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Solve Examples

1. Determine a point which divides a line

segment 7 cm long, internally in the ratio 2:3


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_eREX0lbwektz

° Watch Video Solution

2. Determine a point which divides a line

segment 6cm long externally in the ratio 5:3

o Watch Video Solution

3. Determine a point which divides a line

segment 6 cm long externally in the ratio 3:5.

° Watch Video Solution



https://dl.doubtnut.com/l/_eREX0lbwektz
https://dl.doubtnut.com/l/_NOtmkWjb7Kte
https://dl.doubtnut.com/l/_RROpjOmZOD9h
https://dl.doubtnut.com/l/_Y8Jhd28bUJx6

4. Construct a triangle similar to a given
. . 2
triangle ABC such that each of its sides is grd
of the corresponding sides of the triangle ABC.

It is given that AB=4cm, BC=5cm and AC=6cm .

° Watch Video Solution

5. Construct an isosceles triangle whose base
is 6cm and altitude 4 cm. Then construct
another triangle whose sides are 1 times the

corresponding sides of the first triangle.

I ° Watch Video Solution


https://dl.doubtnut.com/l/_Y8Jhd28bUJx6
https://dl.doubtnut.com/l/_RqJE6BKREtTb

6. Construct a quadrilateral ABCD with AB=3
cm, AB=3cm, AD=2.7 <<m, DB=36 a<om,
/B = 110° and BC=4.2 cm. Construct another
quadrilateral ABC'D' similar to quadrilateral

ABCD so that diagonal BD'=4.8 cm.

° Watch Video Solution

7. Construct a cyclic quadrilateral ABCD in

which AB=4.2 cm, BC=5.5 cm, CA=4.6 cm and


https://dl.doubtnut.com/l/_RqJE6BKREtTb
https://dl.doubtnut.com/l/_b2tvIHqiNjrx
https://dl.doubtnut.com/l/_i7QyLlZaiMo8

AD=3 cm. Also construct a quadrilatral similar
to [0 ABCD whose side are 1.5 times the

corresponding sides of [1 ABCD.

o Watch Video Solution

Construction Of Tangents To A Circle

1. Take a point O on the plane of the papr. With
O as centre draw a circle of radius 4 cm. Take

point P on this circle and draw a tangent at P.

o Watch Video Solution



https://dl.doubtnut.com/l/_i7QyLlZaiMo8
https://dl.doubtnut.com/l/_hGoOjodiiJL6

2. Draw a circle of radius 3 cm. Take a point P
on it. Without using the centre of the circle,

draw a tangent to the circle at point P.

o Watch Video Solution

3. Draw a circle of radius 2.5 cm. Take a point at
a distance of 5 cm from the centre of the
circle. From point P, draw two tangents to the

circle.

| €8 l


https://dl.doubtnut.com/l/_hGoOjodiiJL6
https://dl.doubtnut.com/l/_uQ7iiEvkNv8s
https://dl.doubtnut.com/l/_0ZbDXPlTFRKU

L ' Watch Video Solution J

4. about to only mathematics

° Watch Video Solution

5. Draw a circle of radius 4 cm. Take a poin P
outside the circle. Without using the centre of
the circle, draw two tangents to the circle

from point P.

o Watch Video Solution



https://dl.doubtnut.com/l/_0ZbDXPlTFRKU
https://dl.doubtnut.com/l/_DHLRFFxBORBS
https://dl.doubtnut.com/l/_iU5rM7eD0HEY

Problems From Ncert Exemplar

1. Construct a triangle with sides 5cm, 6cm and
7cm and then another triangle whose sides
are 7/5 of the corresponding sides of the first

triangle.

o Watch Video Solution

2. Construct an isosceles triangle whose base

in 8 cm and altitude 4 cm and then another


https://dl.doubtnut.com/l/_vIM36Zia2fUm
https://dl.doubtnut.com/l/_UBYNPJHTAylG

triangle whose sides are 15 times the

corresponding sides of the isosceles triangle.

° Watch Video Solution

3. Draw a right triangle in which the sides
(other than hypotenuse) are of lengths 4 cm
and 3 cm. Then construct another triangle
whose sides are 3 times the corresponding

sides of the given triangle.

° Watch Video Solution



https://dl.doubtnut.com/l/_UBYNPJHTAylG
https://dl.doubtnut.com/l/_6VAeaM0caao2
https://dl.doubtnut.com/l/_9sQplVV1GWUW

4. Construct a tangent to a circle of radius 4
cm from a point on the concentric circle of
radius 6 cm and measure its length. Also verify

the measurement by actual calculation.

o Watch Video Solution

5. Draw a circle of radius 3 cm. Take two points
P and Q on one of its extended diameter each
at a distance of 7 cm from its centre. Drew
tangents to the circle from these two points P

and Q.


https://dl.doubtnut.com/l/_9sQplVV1GWUW
https://dl.doubtnut.com/l/_zxWdg5gzSq0M

° Watch Video Solution

6. Let ABC is a right triangle in which AB = 6
cn, BC = 8 ecm, ZB =90°. BD is the
perpendicular from B on AC. The circle
through B,C and D is drawn. Construct the

tangents from A to this circle.

° Watch Video Solution



https://dl.doubtnut.com/l/_zxWdg5gzSq0M
https://dl.doubtnut.com/l/_VZGFk9a6ueFV

7.Draw a circle with the help of a bangle. Take
a point outside the circle. Construct the pair

of tangents from this points to the circle.

o Watch Video Solution

8. Draw a line segment of length 7cm. Find a

point P on it which divides it in the ratio 3:5.

° Watch Video Solution



https://dl.doubtnut.com/l/_aMjwZVP72V8H
https://dl.doubtnut.com/l/_ugkuc7FgEbhc

9.Drw a AABC in which BC=6cm,CA=5cm
and AB = 4 cm. Construct and triangle similar

to it and of scale factor g

o Watch Video Solution

10. Draw two concentric circles of radii 3 cm
and 5 cm. Taking a point on outer circle,
construct the pair of tangents to the other.
Measure the length of a tangent and verify is

by actual calculation.

| & I


https://dl.doubtnut.com/l/_cy2jMJx8f6JW
https://dl.doubtnut.com/l/_hiRpotUrhFPJ

| ¥ Watch Video Solution |

Exercise 11 A

1. Divide a line segment of length 10 cm

internally in the ratio 5:4.

o Watch Video Solution

2. Divide a line segment of length 8 cm

internally in the ratio 4:2.

l ° Watch Video Solution


https://dl.doubtnut.com/l/_hiRpotUrhFPJ
https://dl.doubtnut.com/l/_W3DVmqQZsZBS
https://dl.doubtnut.com/l/_bRgdOppdDsGH

3. Divide a line segment of length 5 cm

externally in the ratio 5:2.

o Watch Video Solution

4. Divide a line segment of length 7 cm
internally in the ratio 3:5 . Also justify your

construction.

o Watch Video Solution



https://dl.doubtnut.com/l/_bRgdOppdDsGH
https://dl.doubtnut.com/l/_sn8WkMErW3u8
https://dl.doubtnut.com/l/_wT6MsXWQ2ygo
https://dl.doubtnut.com/l/_Rts6NoY0jNzn

5. Construct a AABC in which AB=4 cm, BC=5
cm and AC=6cm. Now construct a triangle
similar to triangle ABC such that each of its

sides is 3 of the corresponding sides of

AABC.

o Watch Video Solution

6. Construct a triangle similar to a given
AABC Such that each of its sides is (4/5)th of
the corresponding sides of AABC. It is given

that AB=6cm,BC=5cm and ZABC = 60°,


https://dl.doubtnut.com/l/_Rts6NoY0jNzn
https://dl.doubtnut.com/l/_rqf3k8gwGDEs

° Watch Video Solution

7. Construct a triangle similar to a given
AABC Such that each of its sides is (3/4)th of
the corresponding sides of AABC. It is given

that BC=7cm and /B = 45°, /A = 105°,

o Watch Video Solution

8. Draw a triangle similar to AABC' with its

4
sides equla to (g)th of the corresponding


https://dl.doubtnut.com/l/_rqf3k8gwGDEs
https://dl.doubtnut.com/l/_3D9WrZl6bYt9
https://dl.doubtnut.com/l/_3QJdszxh1Pn5

sides of AABC. It is given that AB=AC=5.0 cm

and ZA = 90°.

° Watch Video Solution

9. Construct a triangle similar to AABC' with

equal to 3/2 times of the corresponding sides

of AABC, it is given that AB=5cm, /B = 60°

and altitude CD=3cm

o Watch Video Solution



https://dl.doubtnut.com/l/_3QJdszxh1Pn5
https://dl.doubtnut.com/l/_0ThrvffzBm2t

10. Construct an isosceles triangle whose base
is 8cm and altitude 4cm and then construct
another triangle whose sides are 2 times the

corresponding sides of the isosceles triangle.

o Watch Video Solution

11. Construct a quadrilateral in which AB=6.5
cm, BC=54 cm, CD=5.8 cm, DA=73 cm and

/B = 60°. Construct a quadrilateral similar


https://dl.doubtnut.com/l/_yvV45oFDzQcI
https://dl.doubtnut.com/l/_XF24cn8mxX80

to quadrilateral ABCD with its sides 4/5 of the

corresponding sides of ABCD

° Watch Video Solution

12. Construct a triangle ABC in which AB=5cm
and Z = 60°. Constructa AAB’C"’ similar to

2
A ABC with scale factor 3

° Watch Video Solution



https://dl.doubtnut.com/l/_XF24cn8mxX80
https://dl.doubtnut.com/l/_npLdQEnVO7wl

13. Construct an equilateral AABC whose
altitude is 4cm. Also construct a triangle

3
similar to AABC with scale factor 1

o Watch Video Solution

Exercise 11 B

1. Draw a circle of radius 3.0 cm. Take a point P

on it. Construct a tangent at point P.

o Watch Video Solution



https://dl.doubtnut.com/l/_BnUAq6xnZIXX
https://dl.doubtnut.com/l/_yddb4qkGbXtE

2. Draw a circle of radius 2.5 cm with centre O
and take a ponit P outside the circle such that
OP=7.0 cm. From P draw two tangents to the

circle.

° Watch Video Solution

3. Draw a circle of radius 3.5 cm with centre O.
Draw two tangents to the circle so that the

angle. Between tangent is 60°.

l ° Watch Video Solution


https://dl.doubtnut.com/l/_yddb4qkGbXtE
https://dl.doubtnut.com/l/_CSnyv6z07dxA
https://dl.doubtnut.com/l/_BPTOkDadGGvV

4. Draw a circle of radius 5.0 cm. Take a point P
on it. Without using the centre of the circle

construct a tangent at the point P.

° Watch Video Solution

5. Draw a circle of radius 3 cm. Take a point P
outside it. Without using the centre of the
circle, draw two tangents to the circle from

the point P.



https://dl.doubtnut.com/l/_BPTOkDadGGvV
https://dl.doubtnut.com/l/_FQZBkDQJYT4n
https://dl.doubtnut.com/l/_pnsX13sMyFOn

Watch Video Solution

6. Draw a circle of radius 4 cm. Draw pair of
tangents to this circle which are inclined to

each other at 75°.

o Watch Video Solution

7. Draw a circle of radius 3 cm. Draw two
tangents to the circle which ar perpendicular

to each ouher.

| €8 |


https://dl.doubtnut.com/l/_pnsX13sMyFOn
https://dl.doubtnut.com/l/_mUpV92yVlJbo
https://dl.doubtnut.com/l/_A2VwdwusfSlO

| ¥ Watch Video Solution J

8. Draw a line segment AB of length 8 cm.
Taking A as centre draw a circle of radius 3.5
cm and taking B as centre draw another circle
of radius 2.5 cm. Construct tangents to each

circle from the centre to the other circle.

° Watch Video Solution

9. Draw a circle of radius 3 cm and take a point

P outside it. Without using the centre of the


https://dl.doubtnut.com/l/_A2VwdwusfSlO
https://dl.doubtnut.com/l/_ct4G3Vnj0o2P
https://dl.doubtnut.com/l/_sN1RIhdUw7Uu

circle draw two tangents of the circle from the

point P.

° Watch Video Solution

10. Draw a circle of radius 2.5 cm. Draw a
tangent to the circle making an angle of 45°

with a line passing through the centre.

° Watch Video Solution



https://dl.doubtnut.com/l/_sN1RIhdUw7Uu
https://dl.doubtnut.com/l/_RTE7hFMZ4ewP

